

$$\frac{a_1}{q} + a_1 + a_1 q = 11 \xrightarrow{a=1} \frac{1}{q} + 1 + q = 11 \rightarrow \frac{1}{q} + q = 10 \rightarrow \frac{1+q^2}{q} = 10$$

$$\frac{a}{q} \times a \times a q = 11 \rightarrow a^3 = 11 \rightarrow a = 1$$

$$1 + 1 + 1 = 11$$

$$\rightarrow q = \frac{1}{10}$$

$$a_1 = 1$$

$$a_2 = 1$$

$$a_3 = 1$$

$$\rightarrow 10q = 10 \times \frac{1}{10} = 1$$

$$\rightarrow 10q = 10 \times \frac{1}{10} = 1$$

$$\rightarrow 10q = 10 \times \frac{1}{10} = 1$$

$$\rightarrow 10q = 10 \times \frac{1}{10} = 1$$

$$(2x)^2 = (x^2 + 8)(x^2 - 2) \Rightarrow 4x^2 = x^4 + 2x^2 - 16 \rightarrow 2x^2 = x^4 - 16 \rightarrow x^4 - 2x^2 - 16 = 0$$

$$\rightarrow t = x^2 \rightarrow t^2 - 2t - 16 = 0 \rightarrow \frac{2 \pm \sqrt{4 + 64}}{2} = \frac{2 \pm \sqrt{68}}{2} \rightarrow t = 1 \pm \sqrt{17}$$

$$\rightarrow x^2 = 1 + \sqrt{17} \rightarrow x = \pm \sqrt{1 + \sqrt{17}}$$

$$\rightarrow 1 + 1 + 1 + 1 = 4 \rightarrow q = \frac{1}{4}$$

$$S_V = \frac{1}{1 - r} = \frac{1}{1 - \frac{1}{4}} = \frac{4}{3}$$

$$S_{\infty} = a_1 + a_1 q + a_1 q^2 + a_1 q^3 + a_1 q^4 = a_1 (1 + q + q^2 + q^3 + q^4) \Rightarrow a_1 = 125$$

$$\rightarrow 125 (1 + q + q^2 + q^3 + q^4) = 125 \times \frac{1 - q^5}{1 - q} = 125 \times \frac{1 - \frac{1}{16}}{1 - \frac{1}{4}} = 125 \times \frac{15}{12} = 125 \times \frac{5}{4} = 156.25$$

$$\rightarrow S_{\infty} = 156.25$$

$$d = \frac{a_n - a_1}{n-1} = \frac{100 - 1}{100-1} = \frac{99}{99} = 1$$

$$a_n = a_1 + (n-1)d \rightarrow a_{100} = 1 + 99 \times 1 = 100$$

$$A + B = 100 + 1 = 101$$

$$d = \frac{a_n - a_1}{n-1} = \frac{100 - 1}{100-1} = \frac{99}{99} = 1$$

$$a_n = a_1 + (n-1)d \rightarrow a_{100} = 1 + 99 \times 1 = 100$$

$$A + B = 100 + 1 = 101$$

$$(t_1 + rd)(t_1 + \lambda d) = (t_1 + qd)^r \rightarrow t_1^r + 10t_1d + 10d^r = t_1^r + r^2qd + 1r^2t_1d$$

$$\rightarrow +r^2t_1d + 10d^r = 0 \rightarrow +r^2d(t_1 + 10d) = 0$$

$$\rightarrow r^2d = 0 \rightarrow d = 0$$

$$d_1 = t_1 + r^2d$$

$$d_2 = t_1 + qd$$

$$t_9 = t_1 + \lambda d$$

$$t_1 \times t_9 = (t_v)^r$$

$$d = \frac{-t_1}{10} \leq 0$$

نشان می دهیم که d نمی تواند مثبت باشد

$$t_1 + 10d = 0 \rightarrow d = \frac{-t_1}{10}$$

$$\rightarrow d = 0$$

$$a_r = a_1 + d$$

$$a_f = a_1 + rd$$

$$a_n = a_1 + vd$$

$$a_r = rd, a_f = fd, a_n = \lambda d$$

$$(a_f)^r = a_r \times a_n \rightarrow a_1^r + r^2qd + qd^r = a_1^r + \lambda qd + vd^r$$

$$rd^r = ra_1d \rightarrow rd = ra_1 \rightarrow a_1 = d$$

$$q = \frac{a_f}{a_r} = \frac{fd}{rd} = r \rightarrow t_n = t_1 q^{n-1}$$

$$t_n = \frac{1}{r} \times r^n$$

$$t_{10} = \frac{1}{r} \times r^9 = r^8 = 128$$

$$r = 2$$

$$t_1 = r^8 a_q, r a_q^r, a_q^r \rightarrow r b = a + c \rightarrow r a q^r = r a q + a q^r \rightarrow r a q^r = a q (r + q)$$

$$\rightarrow r q = r + q^r \rightarrow q^r + r - r q = 0 \rightarrow (q-1)(q-r) = 0$$

$$q = 1$$

$$q = r$$

$$d = \frac{v}{r} - \frac{\lambda}{r} = -\frac{1}{r}$$

$$\rightarrow t_n = r + (n-1)\left(-\frac{1}{r}\right)$$

$$\left\{ \begin{array}{l} t_1 = \frac{a}{r} \\ t_n = \frac{1}{r} \\ t_{10} = -1 \end{array} \right\} \left\{ \begin{array}{l} b_1 = \frac{a}{r} + k \\ b_r = \frac{1}{r} + k \\ b_{10} = -1 + k \end{array} \right\} \rightarrow b_r = b_1 \times b_{10}$$

$$\left(\frac{1}{r} + k\right)^r = (k-1)\left(k + \frac{a}{r}\right) \rightarrow k^r + \frac{1}{r}k + \frac{1}{r^2} = k^r + \frac{1}{r}k - \frac{a}{r^2} \rightarrow \frac{1}{r}k - \frac{1}{r}k = -\frac{a}{r^2} - \frac{1}{r^2}$$

$$\rightarrow \frac{1}{r}k = -\frac{r+1}{r^2}$$

$$r = \frac{b_r}{b_1} = \frac{\frac{1}{r} - \frac{r+1}{r^2}}{\frac{a}{r} - \frac{r+1}{r^2}} = -\frac{a}{r} \rightarrow r = \frac{a}{r}$$

$$b_1 = a_1, b_r = a_1 r^r, b_{10} = a_1 r^{10} \rightarrow b_1 + b_r + b_{10} = v r^r \rightarrow a(1 + r^r + r^{10}) = v r^r \rightarrow v r^r$$

$$A_1, A_r, A_{10} \rightarrow A_1 = a, A_r = a r^r, A_{10} = a r^{10} \rightarrow A_n = A_1 + (n-1)d$$

$$\Rightarrow A_r = a + d = a r^r, A_{10} = a + 9d = a r^{10}, a + d = a r^r \Rightarrow d = a(r^r - 1)$$

$$a + 9d = a r^{10} \rightarrow a + 9a(r^r - 1) = a r^{10} \rightarrow a(1 + 9(r^r - 1)) = a r^{10}$$

$$1 + 9r^r - 9 = r^{10} \Rightarrow 9r^r - 8 = r^{10} \Rightarrow r^{10} - 9r^r + 8 = 0 \rightarrow r = \frac{9 \pm \sqrt{81-32}}{2} < r = 2 \rightarrow r = 2$$

$$d = a(r^r - 1) \Rightarrow d = a(v) = v a \Rightarrow a(1 + 1 + 9) = v r^r \rightarrow v r^r a = v r^r \rightarrow a = 1$$

$$d = v a \rightarrow d = v$$